Embedding Production (Final Production, Dec 2010)

MuKpi was run with the following cuts: (Red letters in parenthesis is the cut used in real data – First Production)
|ZVertex| < 10

SigmaZVrtx < 200um
pT > 0.1 GeV/c ( > 0.5GeV/c)
p > 0.1 GeV/c ( > 0.5GeV/c)
No requirement on Si hits ( > 2)
TpcHits > 20 (same)
|eta| < 1 (same)
dEdxTrackLength > 40cm (same)
DCA_XY < 0.1cm (same)
Probability > 0.01(> 0.1)
|slength|<0.1 (same)
dEdx: |nSigma|<2.5 (<2)
Number of Events: 2.52K

Offline Cuts

1) No Cuts
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S/B ~ 4.620

2) SiHits > 0
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S/B ~ 3.70

3) SiHits > 1
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S/N ~ 4.64

4) SiHits > 2
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No Signal (I think it needs more statistics to draw a conclusion on this)

A pico tree was made with the exact same cuts used for real data production, (except the cut on silicon hits, I have no cut on SiHits here). I will cut on the SiHits offline in the following plots. 

Cuts used to make pico file: pT > 0.5, p > 0.5, probability >0.1, |SigmaK, pi| < 2.
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S/N ~ 3.682

Pico cuts+ SiHits>0
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S/N ~ 2.923

A D0 peak appears at the right mass, need to increase statistics and check if it can withstand the SiHits>2 cut. 

